

# Reappear Grade Sheet of B.Tech. BT 1st\_2nd\_Semester\_December'2019

		Basic	Electroni EC- Credit I		eering			ry Maths-l Γ-101 H <b>ours- 4</b>				y Maths-I Γ-102 <b>Hours- 4</b>	I	Total	Total	Grade
Sr. No	Reg. No.	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Registered Credit	Point Secured	Point Average
1	150331	F	2.00	0.00	0.00	C+	4.00	6.00	24.00	C+	4.00	6.00	24.00	10.00	48.00	4.80

Note: F grade course to be repeated



### Reappear Grade Sheet of B.Tech. CE 1st\_2nd\_Semester\_December'2019

		Fundam	entals of E	nvironmer	nt Science																									
			& Bioen	gineering			Engineeri	ng Physics		Basic	c Mechani	cal Engine	ering		Engineerin	ng Maths-	I		Engineerin	g Maths-l	II	Oper				1				
			EVI	3-101			PHY	Y-101			ME	-101		Maths-101				Maths-102								1				
			Credit	Hours- 3			Credit	Hrs - 4			Credit !	Hours- 3			Credit !	Hours- 4			Credit l	Hours- 4		Credi	t Hours- 3					Total	Total	Grade
Sr. I	No Reg. No.	Grade Earned Grade Point Awarded Credits Points Secured		Grade Awarded			Point Secured			Point Secured	Grade Awarded				Earned Credits					Grade Awarded	Earned Credits	Grade Points	Point Secured	Registered Credit	Point Secured	Point Average				
			Ciedits	Folias			Credits	Folits			Credits	Points			Credits	Points			Credits	Folias	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,				Ciedits	Folits				
1	150226	F	3.00	0.00	0.00		N	I.A		N.A				N.A					N	.A		N.A			N	.A		3.00	0.00	0.00
2	150707		N	.A		N.A				N.A				N.A			D	D 4.00 4.00 16.00			N.A			N	.A		4.00	16.00	4.00	
3	150781		N	.A		F	4.00	0.00	0.00	C+	3.00	6.00	18.00	N.A				N	.A		Computer Fundamentals and Programming GE-110			3.00	4.00	12.00	10.00	30.00	3.00	
4	150969	N.A				F	4.00	0.00	0.00	D	3.00	4.00	12.00		N	.A			N	.A		N.A			N	N.A		7.00	12.00	1.71
5	151002	N.A				F	4.00	0.00	0.00	C	3.00	5.00	15.00		N	.A			N	.A		Introduction to IT Tools	GE-134	D	3.00	4.00	12.00	10.00	27.00	2.70
6	151030	) N.A				N.A			N.A			N.A			N.A				Engineering Graphics GE-115			3.00	5.00	15.00	3.00	15.00	5.00			
7	151162		N	.A			N	I.A			N	.A		D	4.00	4.00	16.00	D	D 4.00 4.00 16.00			N.A		N.A				8.00	32.00	4.00

Note: F grade course to be repeated



### Reappear Grade Sheet of B.Tech. CSE 1st\_2nd\_Semester\_December'2019

		Basic		ics Engine 101 Hours- 2	ering	Engine		phics & D -102 Hours- 4	rawing	]		ng Maths-l s-102 Hours- 4	Total	Total	Grade	
Sr. No	Reg. No.	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Registered Credit	Point Secured	Point Average
1	150135		N	.A		F	4.00	0.00	0.00	F	4.00	0.00	0.00	4.00	0.00	0.00
2	150141		N	.A		F	4.00	0.00	0.00	F	4.00	0.00	0.00	4.00	0.00	0.00
3	150421	C+	2.00	6.00	12.00		N	.A			N	.A		2.00	12.00	6.00

Note: F grade course to be repeated



#### Reappear Grade Sheet of B.Tech. EE 1st\_2nd\_Semester\_December'2019

			amentals of ence & Bi EVB Credit I	oengineer		Total	Total	Grade
Sr. No	Reg. No.	Grade Awarded	Earned Credits	Grade Points	Point Secured	Registered Credit	Point Secured	Point Average
1	150133	В	3.00	7.00	21.00	3.00	21.00	7.00
2	150709	С	3.00	5.00	15.00	3.00	15.00	5.00
3	150712	В	3.00	7.00	21.00	3.00	21.00	7.00

Date of Issue: 11.02.2020 Prepared By

Checked By Controller of Examination



# Reappear Grade Sheet of B.Tech. FT 1st\_2nd\_Semester\_December'2019

						Engine		phics & D -102 Hours- 4	rawing	Physi	cal Training HU-1 Credit	01 (P)	Total	Total	Grade	
Sr. No	Reg. No.	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Registered Credit	Point Secured	Point Average
1	150102		N	.A		F	4.00	0.00	0.00		N	.A		4.00	0.00	0.00
2	150323		N	.A		C+	4.00	6.00	24.00	В	1.00	1.00 7.00 7.00			31.00	6.20
3	150970	C+	3.00	6.00	18.00		N	.A	•		N	.A	•	3.00	18.00	6.00

Note: F grade course to be repeated



### Reappear Grade Sheet of B.Tech. ME 1st\_2nd\_Semester\_December'2019

			nputer Fur ogrammin			Basic		cs Engine	ering	Fundamentals of Environment Science & Bioengineering EVB-101				Engineering Graphics & Drawing ME-102				Basic		cal Engin	eering		Engineerir Math	ng Maths-l				
			Credit Hours- 3					Hours- 2				Hours- 3			Credit I					Hours- 3				Hours- 4		Total	Total	Grade
Sr. No	Reg. No.	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Registered Credit	Point Secured A	Point Average
1	150075	B+	3.00	8.00	24.00	C	2.00	5.00	10.00	F	3.00	0.00	0.00	F	4.00	0.00	0.00		N	I.A		D	4.00	4.00	16.00	16.00	50.00	3.13
2	150110	N.A				C	2.00	5.00	10.00		N	.A			N	.A			N	I.A		N.A				2.00	10.00	5.00
3	150456	N.A				D	2.00	4.00	8.00	N.A				N.A				C+	4+ 3.00 6.00 18.00			N.A			5.00	26.00	5.20	
4	150536	N.A					N	.A			N	.A			N.A			N.A				D	4.00	4.00	16.00	4.00	16.00	4.00

Note: F grade course to be repeated